Y4 - Autumn - Block 1 - Step 4 - Count in 1,000s Answers

There are 5,000 sweets.
There are five thousand sweets.

There are 7,000 pennies.
There are seven thousand pennies.

a) 3,000
b) 8000

9 thousand blocks circled
This can be done in multiple ways.

4,000 5,000 7,000 8,000
8,000 6,000 4,000

5000 6,000 1000 10,000 15,000

2 thousands or 2,000
10 hundreds are equal to 1 thousand so 20 hundreds are equal to 2 thousands or 2,000

10 hundred blocks circled
This can be done in multiple ways.

Rosie is correct.
1,000 is divisible by 2 without leaving a remainder so any 1,000 is an even number.

a) 9,000
b) 13,000




